NO. Would like to store
products?

YES

v

Considering storage

Issues to be
considered:

- Warehouse
availability

(How much space
left?)

- Carrying cost

Calculate costs

Issues to be
considered:

- When will we
purchase? Spot rate?
- Optimal quantity

- Transportation cost
- Taxes/ Tariff

Finding possible
alternatives or giving x_ gl N[@]
up and facing losses

Using this
approach?

ould like to buy
financial
instruments?

YES

Considering related factors

Examples:

- Does the company really
understand the mechanic of the
instrument?

-Which kind of instrument is the
most appropriate?

Using this
approach?

YES

Calculating inventory

amount and time period
you would like to assign
in the contract

In this flowchart, we assume that the

procuring (if not, see PROBLEM 4).

| |
: company has ability to pay when :
| |

IThe question is
IHow to find a reliable sales
forecast?

| . .
IHere is some suggestions we could

|find:

I- Using CRM to comprehend

| customer behavior, for instance,
Jusing member card to record

| customer behavior (i.e. Which

| products they would like to buy?)
land synthesize trends of each
|product from the information.

- Hiring experienced employees to
l do the job, but it would be costly
for startup company or SMEs.

END

v PROBLEM 2:
STOCKOUT COST

We think this cost is opportunity cost as, in real life, we can’t define the
exact amount of revenue we will lose. (Hard to calculate)

Find another

[

[

[

[

[

[

[

| ;

[ reliable
| sales forecast
[

[

[

[

[

[

[

[

[

NO

Receiving
sales
forecast

Analyzing
reports

Reliable
enough?

Checking
inventory

How reliable and accurate is it?

IExample factors that have impact:
|- Nature of the industry

|If your company is in fluctuate industry such as
|technology industry, it might be hard to forecast.

| - Duration of forecast

| If the duration is too long, the forecast may not be
| very precise because uncertain situations could
|happen.(Vice versa) However, it’s still up to nature
| of the industry. For example, if your company is in
|drinking water industry, the demand will tend to be

|r'nore stable.

Calculating available for
sales inventory

Issues to

may lead

be concerned:

- Products expiry date
If there are many expired
inventory, it might be a
problem with miscalculating
stocking quantity which

to losses.

YES

Selling products

YES

lose

Stockout cost is one of the obvious problems in the game.

We think the key to resolve this problem is to manage the inventory
effectively by using safety stock and it would be better if we are able to
balance between this cost and carrying cost (explained in PROBLEM 1).

The relationship between them:
If we decide to store too many inventory, no stockout cost will occur,
but carrying cost (rental cost or overstock penalty in the game) must be

too high.

If we decide to store only a few inventory, stockout cost must be occur
especially when there is a peak of demand.

Here is the challenge:

How to calculate the proper auto-replenishment quantity by using EOQ

and safety stock?

As the last game we played, we could notice that these methods might
not 100% work due to the inconsistent demand throughout the game.
However, at least, it is more helpful to use the concept of these theories

than not using it.

How to solve the problem is shown in the flowchart.

Necessary to
import?

v

Enough for all

demands?

Are you acceptable to

some revenue?

Have any

warehouses?

|The big question you should ask yourself.

Example:

PROBLEM 1:
LOSSES FROM
INEFFICIENCY

Loss from inefficiency in our definition means there are
some unnecessary costs in the operation. The expenses
you have to pay, but they have not generated any returns.

v

In dairy product industry (producing milk, cheese, yogurt,
etc.), the products are easily perishable so that they have to
be kept refrigerated at the appropriate temperature. If the
manufacturer overproducing, the unsold products will
remain in a warehouse which means the manufacturer have
to accept the carrying cost (the cost of inventory holding. In
this case, the costs includes rent, utilities, and salaries) and
also the risk of losses in case of its products are expired
before being sold out.

How to solve the problem:

Shown in the flowchart, we assume that the calculation
method is effective, so the only problem will be the input
,sales forecast. However, in reality, it’'s good to consider the
calculation method such as EOQ to reach the effective

solution.

Contacting
warehouse for
inventory
reports

Receiving
inventory

reports

Considering transferring

Inventory > 0? YES

We used a word ‘Inventory > 0?" |
| because it can cover the case that |

the amount of inventory couldn’t |
cover all demands

inventory to our branch

Issues to be considered:
- Express transportation
Cost

- Location: Is it too far?
Will inventory arrive in
time?

Determining the
amount for

shipping

Using this
approach?

Have any

branches?

Contacting
branches for
inventory
reports

Receiving
inventory
reports

Inventory > O and

Considering transferring

Sufficient for their demand?

inventory to our branch

Issues to be considered:
- Express transportation
Cost

- Location: Is it too far?
Will inventory arrive in
time?

Determining the
amount for
shipping

Using this
approach?

NO

Procuring from

| We have to consider foreign exchange
| rate if we sell imported goods

PROBLEM 3:
FOREX

Foreign exchange is one of the feature in the game
(but we haven’t tried it yet).

The simplest way we could figure out to solve
fluctuate exchange rate problem is to store the
products when the exchange rate is acceptable, but
the biggest challenge is to determine ‘What rate is
acceptable?’ and ‘How many of the products should
we purchase?’

How to solve the problem is shown in the separated
flowchart on the left.

(We think it’s easier to understand if we illustrate
separately.)

In reality, buying financial instruments like swaps or
forwards to reduce risk of exchange rate losses

might be another good choice to consider for well-
established company. 2

v PROBLEM 5:
RM AND OPEX

These cost are the key competitive advantage of the game because most of

the company costs come from RM, DL, MOH and especially OPEX.

Cost of goods sold could be lowered by self-producing more than procuring

finished goods from vendors and trying to use automation as much as
possible, but the automation required a lump sum. Therefore, it is a good
idea to do cost-benefit analysis to weigh the benefit of each choice.

Here are examples of how to lower costs:
Raw materials cost
1. Check remaining inventory to avoid irrelevant purchase.
2. Determine the order quantity to reach economy of
scale. (Purchase in high volume)
3. Try to make a good relationship with vendors to get
more discount.
Operating expenses
1. Use machines instead of workers in some repeatable task.
2. Optimize machines capacity. (should consider the demand of the
products, in reality. If the demand is low, it is not good to produce
them in full capacity.)
3. Try to reduce employee turnover (lower training cost
for new employees) by reviewing and adjusting current
compensation plans
4. Optimize human working schedules
5. Reduce rental cost by calculating optimal space for
usage (Rent only space we have to use.)

How about ‘outsourcing’?

Outsourcing is an interesting choice for several reasons:
- A company cannot effort machines or does not have enough
experience to produce by itself because of the technical
mastery required.
- A company has already used full capacity, but still cannot handle all

demands.

- A company finds out that outsourcing costs lower than self-
producing.

vendor?

Have a
preferred vendor?
(FG/RM)

Find a vendor who (is likely
to) meet(s) the criteria?

Example criteria:
- Delivering on time
- Quality meets our standard

Notice:
Due to choosing an unknown

Calculating

Terms of payment is a

ordering amount

credit term?

Checking for
available cash

Excess your credit term?

PROBLEM TYPES
v

CAN BE FOUND IN THE GAME

CANNOT BE FOUND IN THE GAME

v PROBLEM 4:

Have ability to dun

your customers?

YES
NO Choosing a

loaner and

Considering
customer status

getting a loan

Issues to be

] considered:
Example issues - Interest rate
to be_ (Interest
cor_1$|dered: expense)
- F|lnanC|aI status - Repayment
- History of each time
customer
payment

NO vendor, there might be some
risk so that the more
information (of that vendor)
you get ,the less risky you
take.
T A YE Are customet_’s I_ike_ly _to haye ability Would like to get Consider probability
, to pay within limited time? a loan? to get a loan
NO ay_lng by cash
instead? Example factors:
- Credit rating
- Current income
- Repayment history
T\
e an ab 0 W'I.I we fmISh. Checklng Enough Checking raw materials
producing and ship to M= & practical ; .
a a e . - capacity? inventory
branch in time? capacity N
NO

Procuring (a) machine(s)/
Hiring workers

Considering short-run & long-run costs of
investing in machines and workers

Example issues to be considered:

Long-run

- Maintenance cost

- Taxes

- Depreciation expenses

Enough raw
materials?

X PROBLEM 6: !

cause higher cost
called reworking

- Ability to use machines/workers

efficiently

- Salvage value of machines YES

Short-run

- Factory space availability

- Will the machines arrive on time?

- How long does it take to set up

machines?

- Wage/Salary

T\ 7T\ 7T\ ‘
Purchasing additional
machines? / Hiring workers2
YES
VES Have ability NO A A Would like to get Consider probability
to pay? a loan? to get a loan
Example factors:
- Credit rating
- Current income
- Repayment history
T\ T\

PROBLEM 7:
CAPEX

A long-term loan is usually required for
investment in assets like land, building, plant,
machinery, and other fixed assets, and also for
financing extension or expansion of business.
We have discussed a short-term loan. (See
PROBLEM 4)

The challenge of CAPEX is ‘How do we know
that the returns after investing in assets will

Choosing a
5 cover a loan?’. In the game, to be honest, we do

Producing/

Reworking must

cost

Could them be
reworked?

Analyzing causes p pud=S

Selling defective

REWORKING COST

This is a cost that is not in the game, but, in real life, it is a good idea to
control this cost.

If there is spoilage, the company has to either rework or sell out.

Here is some factors to be considered to answer the question ‘Would it be
worth enough to rework the spoilage’:
- Can the spoilage be reworked?

- How much time and extra-resources do we have to consume to rework?
- Selling price of spoilage.

- Do we have enough capacity to rework?

However, all of the factors above depend on the situation and judgement of
each case.

Defective goods excess the

Reworking
goods

level of acceptance?

goods

loaner and

getting a loan not have a plan for now but trying to manage

the income to cover this cost.

Issues to be
considered:
- Interest rate
(Cost of capital)
- Repayment
time

INTEREST EXPENSE

This expense occurs only if you decide to get a loan.
In reality, this expense directly depends on the
financial institute and the credit of each company.

A loanis a good way to immediately increase your
cash on hand, but it could cause a substantial
amount of expense in the future. The only way to
eliminate this expense is not getting a loan, but if a
loan is necessary, we should determine ‘When do we
really need a loan?’

To answer that question, we should ask ourselves
‘Do we have enough cash on hand to operate?’
If the answer is no, a loan is necessary.

After decided to get a loan, in reality, we must
choose the proper type of loan matching with the
propose of getting that loan. For example, we would
like to acquire a considerable amount of
merchandise to handle a peak of incoming demand.
Thus, it is better to choose a short-term loan due to
quick access to fund and low risk compared to a
long-term loan. (We will discuss long-term loan later
in PROBLEM 7.)

Interest expense is like a chronic disease. The more
time passed, the more expense accumulated. Unless
the company repay all the debts, the company will
have no choice but to bankrupt.
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